Cut Studies

e Three Cuts Are Studied With Data:

* Beam Energy @ 7.5 GeV
* Angle of Eta Meson @ 18 degrees
* N*Mass Cut @ 1.8 GeV/c"2

e | look at PhiEta and N* Invariant Mass Plots
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All Data

ProjectionY of binx=[1,100] [x=3.00..12.00] ProjectionY of binx=[1,100] [x=3.00..12.00]
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Beam E < 7.5 GeV

K™K vy Mass : qu Weighted
:;"";"";""?Integral 622.8

0 ” ............................

[
N

2

S
!

Events / 0.020 GeV/c?
O
I TTTT
i

5 2 2.5 3 35 4
K*Kyy Mass (GeV/c?)

K'KyyMass: 1 - Q Weighted
80;_1’ .................. 0 B 1 .......................... li Integral 2062_

m'i __________ | _________ } ________________________________ = = -

[ H é 5 =

: s ” “II H HH ......................... ............................ ........................ =

E w?TMWMMWW _________________________ émmmmmé _____________________ ; :
§ 40 :_|J ..... ||| ...... }i\ ”
% ”;ﬂli““f“b;, ________ : :

=]
TI[TTT

=

|

2

15 2 2.5 § 3.5 4
K*K vy Mass (GeV/c)



Number of Entries

Beam E < 7.5 GeV

ProjectionY of binx=[1,30] [x=3.00..7.50]
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Beam E > 7.5 GeV
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Beam E > 7.5 GeV
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Theta > 18 deg
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Theta < 18 deg
Projection of binx=[2,100] [x=3.09..12.00]
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N* > 1.8 GeV/cM2
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N* < 1.8 GeV/cN2
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CUT
No Cut:
BeamE @ 7.5:
Theta @ 18:
N* Cut:

Summary

SIGNAL BG
Amplitude: 59 ~495 Events
-17% -55%
-3% -92%
-1% -100%



Summary

CUT SIGNAL BG
* BeamE @ 7.5: -7/0% -31%
e Theta @ 18: -6% -82%

e N* Cut: -15% -87%



	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15

